

## County Distribution Detail Report through 03/01/2023

## **Aurora**

Aurora									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	888	2,030	31	2,949	\$3,686.25	\$87.67	\$3,598.58	0.70	\$2,519.01
							Entity Tota	al:	\$2,519.01
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$2,519.01
Beadle									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	3,054	10,912	463	14,429	\$18,036.25	\$375.85	\$17,660.40	0.70	\$12,362.28
							Entity Tota	nl:	\$12,362.28
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$12,362.28
Bennett									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	842	1,228	7	2,077	\$2,596.25	\$57.91	\$2,538.34	0.70	\$1,776.84
							Entity Tota	al:	\$1,776.84
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$1,776.84
Bon Homme									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	1,555	4,128	64	5,747	\$7,183.75	\$144.54	\$7,039.21	0.70	\$4,927.45
							Entity Tota	nl:	\$4,927.45
							Adjustmen	nt:	\$0.00

**Total Amount:** 

\$4,927.45

## **Brookings**

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	10,135	22,754	250	33,139	\$41,423.75	\$866.04	\$40,557.71	0.70	\$28,390.40
							Entity Tota	al:	\$28,390.40
							Adjustmer	nt:	\$0.00
_							Total Amo	unt:	\$28,390.40
Brown									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	7,765	27,643	1,066	36,474	\$45,592.50	\$980.72	\$44,611.78	0.70	\$31,228.25
12/2022	0	0	34	34	\$42.50	\$0.00	\$42.50	0.70	\$29.75
							Entity Tota	al:	\$31,258.00
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$31,258.00
Brule									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	2,836	3,967	51	6,854	\$8,567.50	\$171.81	\$8,395.69	0.70	\$5,876.98
							Entity Tota	al:	\$5,876.98
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,876.98
Buffalo									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	510	474	1	985	\$1,231.25	\$24.65	\$1,206.60	0.70	\$844.62
							Entity Tota	al:	\$844.62
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$844.62
Butte									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	1,993	6,871	94	8,958	\$11,197.50	\$233.74	\$10,963.76	0.70	\$7,674.63

							Adjustment:		\$0.00
							Total Amo	unt:	\$7,674.63
Campbell									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	583	1,326	17	1,926	\$2,407.50	\$49.28	\$2,358.22	0.70	\$1,650.75
							Entity Tota	al:	\$1,650.75
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$1,650.75
Charles Mix									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	2,258	5,621	21	7,900	\$9,875.00	\$198.56	\$9,676.44	0.70	\$6,773.51
							Entity Total	al:	\$6,773.51
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$6,773.51
City of Box Elder, M	eade Co								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	35	2,986	115	3,136	\$3,920.00	\$78.45	\$3,841.55	0.70	\$2,689.09
							Entity Tota	al:	\$2,689.09
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$2,689.09
City of North Sioux	City, Uni								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	550	3,089	120	3,759	\$4,698.75	\$107.58	\$4,591.17	0.70	\$3,213.82
							Entity Tota	al:	\$3,213.82
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$3,213.82
City of Pierre, Hughe	es Co.								

**Entity Total:** 

\$7,674.63

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	1,235	11,505	771	13,511	\$16,888.75	\$343.84	\$16,544.91	0.70	\$11,581.44
							Entity Tota	al:	\$11,581.44
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$11,581.44
City of Sioux Falls, L	incoln (								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	3,896	28,991	4,086	36,973	\$46,216.25	\$933.64	\$45,282.61	0.70	\$31,697.83
							Entity Tota	al:	\$31,697.83
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$31,697.83
Clark									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	1,069	2,376	53	3,498	\$4,372.50	\$95.62	\$4,276.88	0.70	\$2,993.82
							Entity Tota	al:	\$2,993.82
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,993.82
Clay									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	1,438	7,862	239	9,539	\$11,923.75	\$266.61	\$11,657.14	0.70	\$8,160.00
							Entity Tota	al:	\$8,160.00
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$8,160.00
Codington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	5,816	20,513	876	27,205	\$34,006.25	\$715.50	\$33,290.75	0.70	\$23,303.53
12/2022	3	0	0	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63

							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$23,306.16
Corson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	898	976	366	2,240	\$2,800.00	\$57.50	\$2,742.50	0.70	\$1,919.75
							Entity Tota	al:	\$1,919.75
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,919.75
Custer									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	2,825	6,425	58	9,308	\$11,635.00	\$260.44	\$11,374.56	0.70	\$7,962.19
							Entity Tota	al:	\$7,962.19
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$7,962.19
Davison									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	4,072	14,824	558	19,454	\$24,317.50	\$504.07	\$23,813.43	0.70	\$16,669.40
							Entity Tota	al:	\$16,669.40
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$16,669.40
Day									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	1,649	3,646	184	5,479	\$6,848.75	\$138.20	\$6,710.55	0.70	\$4,697.39
							Entity Tota	al:	\$4,697.39
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$4,697.39
Deuel									

**Entity Total:** 

\$23,306.16

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	1,342	3,101	111	4,554	\$5,692.50	\$118.47	\$5,574.03	0.70	\$3,901.82
							Entity Tota	ıl:	\$3,901.82
							Adjustmen	it:	\$0.00
							Total Amo	unt:	\$3,901.82
Douglas									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	1,052	2,222	17	3,291	\$4,113.75	\$87.12	\$4,026.63	0.70	\$2,818.64
							Entity Tota	ıl:	\$2,818.64
							Adjustmen	ıt:	\$0.00
							Total Amo	unt:	\$2,818.64
Edmunds									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	1,042	2,944	64	4,050	\$5,062.50	\$102.09	\$4,960.41	0.70	\$3,472.29
							Entity Tota	ıl:	\$3,472.29
							Adjustmen	ıt:	\$0.00
							Total Amo	unt:	\$3,472.29
Fall River									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	2,593	4,984	36	7,613	\$9,516.25	\$194.59	\$9,321.66	0.70	\$6,525.16
							Entity Tota	ıl:	\$6,525.16
							Adjustmen	ıt:	\$0.00
							Total Amo	unt:	\$6,525.16
Faulk									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	632	1,543	27	2,202	\$2,752.50	\$55.15	\$2,697.35	0.70	\$1,888.15
							Entity Tota	ıl:	\$1,888.15
							Adjustmen	t:	\$0.00

							Total Amo	unt	\$1,888.15
Grant							Total Amo	unt.	φ1,000.13
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	1,609	5,503	175	7,287	\$9,108.75	\$212.60	\$8,896.15	0.70	\$6,227.31
							Entity Tota	al:	\$6,227.31
							Adjustme		\$0.00
							Total Amo	unt:	\$6,227.31
Gregory									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	1,445	3,604	8	5,057	\$6,321.25	\$144.73	\$6,176.52	0.70	\$4,323.56
							Entity Tota	al:	\$4,323.56
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$4,323.56
Haakon									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	893	1,355	8	2,256	\$2,820.00	\$56.63	\$2,763.37	0.70	\$1,934.36
							Entity Tota	al:	\$1,934.36
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$1,934.36
Hamlin									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	1,300	4,024	70	5,394	\$6,742.50	\$138.61	\$6,603.89	0.70	\$4,622.72
							Entity Tota	al:	\$4,622.72
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$4,622.72
Hand									
Reporting Period	Telecom Lines	Wireless Lines	VOIP	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity	<b>Entity Amount</b>

Percent

0.70

\$3,093.74

Lines

50

3,614

\$4,517.50

\$97.87

\$4,419.63

2,633

1/2023

931

							Adjustment:		\$0.00
							Total Amo	unt:	\$3,093.74
Hanson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	714	3,145	67	3,926	\$4,907.50	\$110.29	\$4,797.21	0.70	\$3,358.05
							Entity Tota	al:	\$3,358.05
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,358.05
Harding									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	610	834	2	1,446	\$1,807.50	\$46.66	\$1,760.84	0.70	\$1,232.59
							Entity Tota	al:	\$1,232.59
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,232.59
Hughes									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	2,364	3,146	146	5,656	\$7,070.00	\$168.86	\$6,901.14	0.70	\$4,830.80
							Entity Tota	al:	\$4,830.80
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$4,830.80
Hutchinson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	2,401	5,282	50	7,733	\$9,666.25	\$196.23	\$9,470.02	0.70	\$6,629.01
							Entity Tota	al:	\$6,629.01
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$6,629.01
Hyde									

**Entity Total:** 

\$3,093.74

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	569	1,079	15	1,663	\$2,078.75	\$41.74	\$2,037.01	0.70	\$1,425.91
							Entity Tota	l:	\$1,425.91
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$1,425.91
Jackson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	542	884	8	1,434	\$1,792.50	\$35.81	\$1,756.69	0.70	\$1,229.68
							Entity Tota	l:	\$1,229.68
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$1,229.68
Jerauld									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	704	1,377	32	2,113	\$2,641.25	\$52.07	\$2,589.18	0.70	\$1,812.43
							Entity Tota	l:	\$1,812.43
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$1,812.43
Jones									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	395	690	7	1,092	\$1,365.00	\$27.99	\$1,337.01	0.70	\$935.91
							Entity Tota	l:	\$935.91
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$935.91
Kingsbury									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	934	3,944	183	5,061	\$6,326.25	\$137.07	\$6,189.18	0.70	\$4,332.43
							Entity Tota	ıl:	\$4,332.43

Adjustment:	\$0.00
Total Amount:	\$4,332.43

Lake							Total Allio	uiit.	ψ+,002.+0
Reporting Period	Telecom Lines	Wireless Lines	VOIP	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity	Entity Amount
1/2023	2,213	9,292	Lines 202	11,707	\$14,633.75	\$322.26	\$14,311.49	Percent 0.70	\$10,018.04
	, -	-, -		, -	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	,,,			
							Entity Tota		\$10,018.04
							Adjustmer		\$0.00
Lauranaa							Total Amo	unt:	\$10,018.04
Lawrence									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	6,304	18,497	352	25,153	\$31,441.25	\$657.67	\$30,783.58	0.70	\$21,548.51
							Entity Tota	al:	\$21,548.51
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$21,548.51
Lincoln									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	3,068	25,881	2,271	31,220	\$39,025.00	\$878.96	\$38,146.04	0.70	\$26,702.23
							Entity Tota	al:	\$26,702.23
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$26,702.23
Lyman									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	999	1,858	390	3,247	\$4,058.75	\$86.00	\$3,972.75	0.70	\$2,780.93
							Entity Tota	al:	\$2,780.93
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,780.93
Marshall									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

1/2023	1,281	3,048	101	4,430	\$5,537.50	\$122.77	\$5,414.73	0.70	\$3,790.31
							Entity Tota	al:	\$3,790.31
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,790.31
McCook									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	1,617	4,436	34	6,087	\$7,608.75	\$155.83	\$7,452.92	0.70	\$5,217.04
							Entity Tota	al:	\$5,217.04
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,217.04
McPherson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	836	1,520	9	2,365	\$2,956.25	\$70.00	\$2,886.25	0.70	\$2,020.38
							Entity Tota	al:	\$2,020.38
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,020.38
Meade									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	2,753	19,613	271	22,637	\$28,296.25	\$601.96	\$27,694.29	0.70	\$19,386.00
							Entity Tota	al:	\$19,386.00
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$19,386.00
Mellette									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	517	741	6	1,264	\$1,580.00	\$32.32	\$1,547.68	0.70	\$1,083.38
							Entity Tota	al:	\$1,083.38
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,083.38

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	869	1,689	22	2,580	\$3,225.00	\$66.40	\$3,158.60	0.70	\$2,211.02
							Entity Tota	al:	\$2,211.02
							Adjustmer	nt:	\$0.00
							Total Amount:		\$2,211.02
Minnehaha									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	33,609	161,231	6,881	201,721	\$252,151.25	\$5,351.20	\$246,800.05	0.70	\$172,760.04
							Entity Tota	al:	\$172,760.04
							Adjustmer	nt:	\$0.00
							Total Amount:		\$172,760.04
Moody									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	1,037	4,900	53	5,990	\$7,487.50	\$176.08	\$7,311.42	0.70	\$5,117.99
							Entity Tota	al:	\$5,117.99
							Adjustment:		\$0.00
							Total Amount:		\$5,117.99
Pennington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	20,552	87,985	3,033	111,570	\$139,462.50	\$2,946.79	\$136,515.71	0.70	\$95,561.00
							Entity Tota	al:	\$95,561.00
							Adjustment: Total Amount:		\$0.00
									\$95,561.00
Perkins									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	1,560	2,296	23	3,879	\$4,848.75	\$107.53	\$4,741.22	0.70	\$3,318.85

							A .!! t		
							Adjustment:		\$0.00
							Total Amou	unt:	\$3,318.85
Potter									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	937	1,995	16	2,948	\$3,685.00	\$73.87	\$3,611.13	0.70	\$2,527.79
							Entity Tota	l:	\$2,527.79
							Adjustmen	t:	\$0.00
							Total Amount:		\$2,527.79
Roberts									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	2,866	5,353	34	8,253	\$10,316.25	\$230.69	\$10,085.56	0.70	\$7,059.89
							Entity Tota	l:	\$7,059.89
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$7,059.89
Sanborn									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	684	1,815	17	2,516	\$3,145.00	\$63.57	\$3,081.43	0.70	\$2,157.00
							Entity Tota	l:	\$2,157.00
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$2,157.00
Spink									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	1,559	4,626	105	6,290	\$7,862.50	\$159.14	\$7,703.36	0.70	\$5,392.35
							Entity Tota	l:	\$5,392.35
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$5,392.35

Stanley

**Entity Total:** 

\$3,318.85

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	612	2,271	77	2,960	\$3,700.00	\$78.25	\$3,621.75	0.70	\$2,535.23
							Entity Tota	al:	\$2,535.23
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,535.23
Sully									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	523	1,207	5	1,735	\$2,168.75	\$43.42	\$2,125.33	0.70	\$1,487.73
							Entity Tota	al:	\$1,487.73
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,487.73
Todd									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	0	133	2	135	\$168.75	\$14.74	\$154.01	0.70	\$107.81
							Entity Tota	al:	\$107.81
							Adjustmer	nt:	\$0.00
							Total Amount:		\$107.81
Tripp									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	1,995	4,125	37	6,157	\$7,696.25	\$156.48	\$7,539.77	0.70	\$5,277.84
							Entity Tota	al:	\$5,277.84
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,277.84
Turner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	1,714	6,580	152	8,446	\$10,557.50	\$217.18	\$10,340.32	0.70	\$7,238.22
							Entity Tota	al:	\$7,238.22
							Adjustmer	nt:	\$0.00

## Union

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	2,186	11,600	633	14,419	\$18,023.75	\$436.87	\$17,586.88	0.70	\$12,310.82
							Entity Tota	al:	\$12,310.82
							Adjustment: Total Amount:		\$0.00
									\$12,310.82
Walworth									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	1,567	3,672	416	5,655	\$7,068.75	\$144.20	\$6,924.55	0.70	\$4,847.19
							Entity Tota	al:	\$4,847.19
							Adjustmer	nt:	\$0.00
							Total Amount:		\$4,847.19
Yankton									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	4,119	17,535	416	22,070	\$27,587.50	\$601.62	\$26,985.88	0.70	\$18,890.12
							Entity Tota	al:	\$18,890.12
							Adjustmer	nt:	\$0.00
							Total Amount:		\$18,890.12
TOTALS	173,954	646,340	26,159	846,453	\$1,058,066.25	\$22,512.60	\$1,035,553.65		